
A 5 digit number is  always less 
than a  6 digit number 

Arthur 

 

When I build a 6 digit number on a place value grid the highest value column 
is the hundred thousand Column but in a 5 digit number it is only ten  

thousands.  So  my 6 digit number is bigger. 

When I write 600,000 I only 

use 2 digits, a six and a zero  but 
it is higher in value than 56,431 
which has 5 digits.  

 

My 6 digit number is worth less than 

  Arthurs 6 digit number but it has all the 
same digits.  

257.444 
 


